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A=x+y.B=x—2y.C=3y—x
A+B+C=x+y+Xx-2y+3y-x
A+B+C=x+:t—_x+y-2y+3y
A+B+C=x+4y-2y
A+B+C=x+2y

+ 3p g

(v)

WS

+ a

; A=s+st,B=g +t.C=,s+29 (m)

A=s+st,B=g+t,C=s+2g
A+B+C=s+st+g+t+s+2g
A+B+C=s+s+g+2g+st+t
A+B+C=2s+3g+st+t
A+B+C=2s+st+t+3g
A=p+q+r,B=p+q-2r,C=p-2q-r (iv)
A=p+q+r,B=p+q-2r,C=p-2q-r
A+B+C=p+q+r+p+q-2r+p-2q-r

A+'B+C=p+p+p+q+q-2q+r—2r—r_

W

=ab+bc+bc+bc =ab+ 3bc =b(a+3c) y

. 2xzy,xzy,xyz i)
= 2%y + X*y + xy* = 3x%y + xy? J

=Xy(3x+y)
: T 6m’,2m*,1,3m? (i)
=6m’+2m?® + 3m* +1 =6m® + 5m? +1 3f
~ _ b?,3ab,4ab,2a’ (i)
=b? + 3ab + 4ab + 22a° J
 =b*+7ab+2a® =2a%+7ab+b?
¥ le‘xysyz!—xy (v)
=X + (-xy) + y* +(-xy) W
=x* -xy +y* - xy
=X —Xy - Xy + y? = x? — 2xy +
| P, -2q, -1,-q (Vi
=P+(-20) +(-r)+(-q) =p-2q-r-qyf
=p-2q-q-r =p-3q-r
-E TP AL A
a’ +2ab +b? a’ - 2ab + b?,a% — ab-b? ()
a’ +2ab +b’
a? —2ab +b’
+a*- ab-b* f
3a? - ab+b’
()
XY + 24y + ¥, )Py + 2y + 2y, 5y -2y -
X’y +2x2y +y?
Xy +xty +2y°
t -2y+xy -y’

J

4xly +2y°

R
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4((4.&:’) 26| (ol 36 %

T -xy Xy 4y - xy? -y
ety -xy’ -y?
3 -2xy +y') - (2x" - xy+y?) (x)
3 -2xy +¥7) = (2x* - xy + y?) 04
_3x? -6xy +3y” - 2x? + xy — y?
=3x* - 2x* — 6xy + Xy + 3y? - y?

-x* - 5xy + 2y?
Lt t-4m- Snfzz 3m-n 2
£ - 4m -6n
-2{F3m¥n
—{ —1m - 5n
{ -£-m-5n
5a'+a’+2a-3 / 2a’—3a’+5a+5 .3
2

53’ + a’ +2a-3
—2a° ¥3a*t+5a+5 -

3a’ +4a’ -3a-8
£ 3x*-4x* +8x* -6 .4
£ Pt 8x° +5x* —3x +4x+2
8x° +5x* -3x +4x +2
-3x® Fax! +8x° ¥6 N4
5x® +9x! -11x* +4x + 8

B=a-b+chza+b+ct 5
_;f.'rﬂv?uxn--a b-cslC=a+b-c
A-B (i)
A=a+b+c B=a-b+c (S
" A-B =a+b+c-(a-b+c)
-=a+b+c-a+b-c
—a-a+b+b+e-¢ =2b
B-C (i)
B=a-b+c C=a+b-¢C W
B_C =a-b+c—(a+b-¢)
=a-b+c-a-b+c
=a-a—b—b+c¥c=—ﬂH1°

A+B+C=3p+2q-2q+r-3r
A+B+C=3p-2r
A=!m+mnB=mn+n{C=nl+{m (v)
A={m+mn,B=mn+n/C=n¢+/m
AtB+C=/m+mn+mn+n’ +n/ + /m
A+B+C=/m+/m+mn+mn+n/ +n/
A+B+C = 2/m + 2mn + 2n/

A+B+C = 2(¢/m + mn + n¢)

| 84 | A7

A A
(Bx) - (4x) =6x-4x=2x:(f  (6x)-(4x) (i)
(133) - (2a) =13a-2a =11a:f' (13a) - (2a) (i)
(x+1)-(x-1) (ii})
(x+1)-(x-1) =x+1-x+1=2 :f
(m-n)-(m+n) (iv)
(m-n)-(m+n=m-n-m-n=-2n :f
(2p+q+2n-(p+q+r (v)
(2p+q+2r)-(p+q+r) ‘S
=2p+q+2r-p-q-r
=2p-p+Qq-Q+2r-r =p+r
(2) - (x* =x* +2x-1) (vi)
=2-x*+x*-2x+1 W
=3t =% =2k +2%1=%" =2* =2%+3
(x® +x*y + xy* +¥*) = (x7y + xy? + 1) (vii)
(x* + X%y +xy* +¥') - Py +xy* +1) o f
=% + X2y + xy? + y* — X2y — xy? —1
=x* + X%y - x*y + xy? - X’y +y* -1
=x’+y' -1
(3x* + 6xy +9y*) - (2x* - 3xy* + xy?) (viii)
(3x" +Bxy +9y*) - (2x" - 3xy* + xy?) :p
= 3x? + 6xy + 9y? - 2x* + 3xy® - xy?
= 3x? - 2x* + 6xy + 3xy’ + 9y* — xy?
=x? + 6xy + 2xy? + 9y’
= x? + 6xy + 2xy? + 9y?

(¢ =Xty 4 xy) = (" = xy? + xy?) i)

(¢ =Xy Y)Y - Xy e xy?) L p
=x* =Xy + Xy —y? + x"y? - xy?

a0
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b Eand S8 eI ol 3d %

=a+b+c-a+b-c-a-b-c¢
=a-a-a+b+b-b+c-c-c¢
-at+b-c

(A+B)-(C+D) (x)
A=a+b+c B=a-b+c
C=a+b-¢c D=-a-b-c¢c
(A+B)-(C+D)
=[(a+b+c)+(a-b+c)]- .
[(a+b-c)+(-a-b-¢)]
=[a+b+c+a-b+c]-[a+b-c-a-b—c]
=a+b+c+a-b+c-a-b+c+a+b+c
=a+a-a+a+b-b-b+b+c+ct+ec+c

=2a+4c =2(a+2c)

S P +3 SLSBVL P axy+yi el
; T b

X+ Xy +y? +1,3+x° 1 4

=3+’ - (x* +xy + y? +1)

=3+x'-x?—xy-y*-1

=x’-x* —xy-y? +3-1

=x’-x*-xy-y?+2

G et P +p* 4P  +ptap et 7
| Sl p® +1

P°+1,p° +p* +p’ +p? +p+1 WS

=p° +p +pP +p? +p+1-(p° +1)

=p°® +p* +p° +p®+p+1-p°

=Pt -ptHpt+p’+piHpatA

=p‘+p’+p’ +p
AT
-éﬁd’l‘:d/:{'diﬁw

__[a +{a+(@+a+a)] (
[a+{a+(a+a+an} 4
= [a +{a+(a+ Za)}]
=[a+{a+3a{]=[a+4a]=5a |

[7x - {4x + (3x - 2x))] (ii)

[7x—{ax+(3x - 2x)}] N g
=[7x - {4x + x}] = [7x - 5x] = 2x

=+2c-2b =2(c-b) S
A-C (i
A=a+b+c C=a+b-¢ N4
A-C =a+b+c—h+b-q
=a+b+c-a-b+c
=d-a+b-B+c+c =2¢
- C-D (iy)
C=a+b-¢c D=-a-b-¢ .
g | =a+b—c—ba—b-q
=a+b-c+a+b+c
=a+a+b+b-c+c
=2a+2b =2(a+b)
B-D (v)
B=a-b+c D=-a-b-c
_ B-D =a-b+c-(-a-b-¢)
=a-b+c+a+b+c
=a-B+b+c+a+c=2a+2c =2(a+c)
. A-D (v))
A-D 4
A=a+b+c D=-a-b-c¢
A-D =a+b+c~-(-a-b-¢)
=a+b+c+a+b+c
=2a+2b+2¢c =2(a+b+c)

A+B;0(vli) :
A=a+b+c =J
B=a-b+¢ C=a+b-c
A+B-C

=(a+b+c)+(a-b+c)-(a+b-c)
=a+b+c+a-bt+c-a-b+ec
=a+a-a+b-b-b+c+c+c
=a-b+3c

A - C - D(viii)
=@+b+c)-@+b-c)-(a-b-q)
=a+b+0-a-b+c+a+b+c =a+b+3c
A-B+D (ix)

A=a+b+c S

B=a-b+c D=-a-b-c

A-B+D
=w+b+°¥43~b+q+ba—b—ﬂ

—
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4(&%»02?((;!}_;! (ol | 9

~_7¢+10m

[6a+{3a+(2a+a+b))}]+6c (Ix)
=[6a+{3a+(2a+a+b)}]+6c S
=[6a+{3a+3a+b)}]+6c
=[6a+6a+b]+6c=12a+b+6c

[2x? - xy - {xy - (2x* - x* = y*)}] ()
zxz_xy_{xy—(zx‘—x’-'y’)}]_ WS

ot

=[2x’— {xy x‘+y‘}]
=[2x" - xy - xy + x* y]
=2x’—iy Xy + x? - y* = 3x? - 2xy - y?

8[3(4a + 5b) - 2(6a - 5b)] (xI)
8[3(4a + 5b) — 2(6a — 5b)] ik
=8[12a+15b —12a +10b] _
=8[12a-12a +15b + 10b] = 8[25b]
=200b

- [M11a-{5b-3(2a+b)}] (xii
|11a-{5b-3(2a+b)}] 2
=[11a- {5b - 6a - 3b}] |
=[11a—{-6a+ 5b-3b}]
=[11a-{-6a + 2b}] =[11a + 6a-2b]
=11a+6a-2b =17a-2b o
[a+c+{a—-c+(a+b+b—c)}] (xil)
=[a+c+{a-c+(a+2b-c)}] J
=[a+c+{a-c+a+2b-c}]
=[a+c+23+2b—2c]=3a+2b—§ _
- 5x—[3y - {4x— (5y -6x - Ty (xIV)
5x—-[3y-[4x—(5y—6x-—7¥)}] WS
=5x—[3y-{4x-(5y—5"+ TY)}‘]
=5x-- [3, - {4,; - (—Gx' +5y + TY)}]
=5xa[3y—{4x—(—51+1zy)}] ‘
=5x—[3y-—{4x+6x—12¥}]

[5¢-{2m+ (6m-3m)}] (ill)
[5¢-{2m+(6m-3m)}] N4
=[5¢-{2m+(3m)}]
=[5¢-{2m+3m}]=[5¢ - {5m}]
=[5¢-5m]=5{-5m=5(¢{-m) .

[2y +{X+X +(x-2x+X)}] (Iv)
[2y+[x+x+(x-ﬂ+_x)}] N 4
=[2y+{x+x+(x—2x=—x)}]
= [Zy +{x+x+ (—Zx)}]
=[2y+{x+x-2x}]
=[2y+{2x-2x}] =2y

[x* +{2xy + (3y* —=2y")}] (v)
[ {ny +(3y* -2y )}] g
= [x +{2xy +(y* )}] =[x*+{2xy +y*}]
=[x*+2xy+y*]=x* + 2xy + y?
[(9a* +{5a* +(a’ + D)1 (vI)
[Ba‘ + {&S’az +(at+ 1)}] N 4
= [Sa‘ +{5a’ +a’ + 1}]
=[9a*+5a’+a 2 41]
—[Sa +6a’ +1] 9a* + 6a% +1
[x? + {3x% - (x* + 2x*)}] (vli)
{ : (x2 +2x3 )}] V4
<)}]
3X’ 3x? ] [x*] = x2

T€—-2[3(5¢ - m)— 2(4£+m}] (vili)
7¢-2[3(5¢-m)-2(4¢+m)] g
=7£+2[15¢-3m-8¢-2m]
=7£-2[15¢-82~3m - 2m]
=7¢-2[7¢-5m]=7¢-142+10m

IIlI

I

[+
[+
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6a-2b-2c (xl); =5x-[3y-{10x-12y}] —
Ga-2b-2c J =5x - [3y -10x +12y]
a +b’+c (xil)
2?1 b? 4 P | = 5% -[-10x +15y]
3(2)=+(1):+(1)2=4+1+1=6_ =5x+10x—15¥=15x-15y=15(X'-Y)
a’+b*-¢* _ _ _
—-Z_(xm) 2_ 2y _arg2 _ ;
s e 2(x* —y?) - 3[x* - {y* - x? +(x y -x*))] -
E_LZ:E_ | | 2067 =y?) =30 —{y* -+ (F ~y? )y o p
=2(x* —y?) - 3[x* — {y* - x* +(x* y‘+x’)}]
21 <M 44121 B2 .4
SOl 2 = =3 5372 | =20 Z¥) -3 —{y* = x* + 2x -y
: : 1=2(x2=y?)-3[x* -y + x* - 2x? + y?]
E+;(XIV) =2(x2_y2)_3[2x2 __2x2]
a b _2. 1 _ .. p =2 -2y" - 6x® —6x® =2x? - 2y?
b+c _1+1 m2% =3 'J =2(x2__y2)
e ab ac R 'y :
be Tbe VIEE s
ab_ac _ (), () g.{#w’d’w P =2/i
b - Ky - Cuosstec=1sb=1a= A
be 'be (M) AA=2*2=4 S aeb )
a+b=2:fg€...qt‘3nh—-3.u!a 5/ w a+b' =2+1 =3 :d’
Ll;IbS = R.H.S ) a-c (i)
g+(_3); g a-C =2'1 =1 :w
5-3 = 2 ] ; b+ c (iii)
i RHS e g P =2 :J
Lt c=9 sb=1ca=1] 3 ol - il (:j.)
: a-b+c=9 _ atb+c =2XT+1%4 :
a=1,b=1,¢c=9 N 4 a-b (v)
LHE a1 a-b %.=2:4 &4 J
;ffbaj;;‘-;c a-bva O
LHS = 1-1+8 = a-b+c  =2-1+1=2
RHS =9 ab + be (vil) -
So LH.S = RH.S ab + be =2(1)+1(1)=2+1 =3
SEetinc=anb=10.a=10/ 4 ~ gab(viil)
b =0:
A= 10, busiOioRBy y b -=4EKn =8 o
axb+25¢c=0 abc (ix)
LHS =10x(-10) + 25(a4) abc = (2)(1)(1) = 2
RH.S 25100+100 =0 _ ab-bc+ac (X
& LHS = RHS - o A0=bedag '

Z M- MM)+)(1) =2-1+2=4-1=3
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e = e 6208 (g‘k‘wnl, ¥ é
=) -4()(1) =9—4-¢ L D I20s-e | "'“;b
. "“""a"c'1-’1'b=2:a.3ﬁ o Jéﬁ«:';ﬁ Y=1 4l x=1J) s

Aa+b=by4g ill ) (X+Y):=x’+2xy+y’
a+b=b+a N X=1,y=1 N 4
LH.S=a+b_ - (x+Y)1=!’+2xy+y’
:-:’,u Lot LHS = (x + y)
=3+2=5 : o
RHS=b+a=24+3 =5 =& Sny
bd LHS = RH.S LHS = (1‘1'1)1 = (2)! =4
b=b Axb=bxa RHS =x'+2xy+y?
axb=bxa . P[RR,
1 RS east W ":-L{b»u:—’
i tns LS 20+ (1P 214244 =4
- 3 L)'J' L-H.S 3 R.H.S
=3x2=8
RHS =pxa J#"‘””Y"‘JﬂxﬂZ)’l 8
i Snsl (x"Y):=X:—ZXY+ %
=2%x3 =8 X=2,y=1 N 4
Vv LHS = RHS (X=y) =x? ~2xy 4 y?
(a+b)+c=a+(b+c) (i LHS = (x-y)
(a+b)+c=a+(b+c) :d’ LL/@J}@‘E
LHS = (@+b)+c A S
C—i.-fb.ud‘: LHS -‘_ . ) ™ (1)
=B+2)+1=5+1 =8 o "11
RHS = a+(b+c) RHS = x —2xy+y1
< n st < Syt
=3+(2+1)=3+3 =6 =(2)* -2(2)(1) + (12
U+ LHS = RHS =4—4+§)“ o
(axb)xc=ax(bxc) () RHS = 1
(@xb)xc = ax(bxc) W

LHS =(axb)xc

c'..i_/bnf-j

= (3x2)x1=6x1=6
RH.S = ax(bxc)
c_i./(:mufé

=3x(2x1) =6

v» LHS = RH.S

W LHS = RHS
¢ 2-12-02-2-2-x)) M x=1 M 7
-]
S

X=1 —

=2-{2-{a-(2-73))

=2—f2-tz—(z—z+1)}]

ax(b+c)=axb+axc (v) =2—-[2—{2—(ﬂﬂ

ax(b+c) = axb+axc W =2—[2-[2_1}]=2_[2_{1}]

LH.S = au:sbm) =2-[2-1]=2-[1] =2-1 4

o < 2+1)=3x(3) § b -dac o=t ub=aiant A 8
| = g:% =9 | ]

RHS = axb+axc a=1,b=3c¢c=1 WL

c_.‘L.fZ-,J:L:-{. b? - 4ac '

= 3X2+3x1= 6+3 = g c-_d‘..;&»w-‘z

v+ LHS = RHS

T
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E"‘ 1 Eﬂ' , b 629 o S28s- ) ol 3
—a-2a-4a-2b+6b-3b+c=-ba+c ax(b-c)= axbm
» 3¢ +4m-6n*, 7 —-8m-6n’ (v) Eﬁ(g =c)axax_2) e S
4¢* -9m-T7n’ .-;'-i./o»u;Jb
34 + 4m-6n*,7¢* ~8m - 6n*, 462 ~9m -Tn* ) =3x(2-1)= 3x1 =
=30 +4m-5n’ +7¢* -8m-6n’ +4¢* -9m-Tn’ RHS = ;g gi:—s-3~3
=32 +76 + 40 + 4m-8m-9m-5n’ - 6n’ - 7n’ U+ LH.S = RH.S

=14 -13m-18n’
-p*-q' s p* +2pq+q’,p* - 2pq+q" (V)
P'+2pq+q",p* -2pq+q’,-p*-q' W
=p'+2pq+q’ +p’ -2pq+q’ +(-p' - q’)
=p’+2pq+q’ +p* -2pq+q’ -p’ - ¢
=p'+p’-p*+2pq-2pq+q’ +q' -
=p*+q°

EG LA e LEGAL

-3a-7b-c,3a-8b-6¢c .

-3a-7b-c,3a-8b-6¢c
=-3a-7b-c-(3a-8b-6c)
-3a-7b-c-3a+8b+6ec
-3a-3a-7b+8b-c+6c
-6a+b+5c

3

W

19p-q+r,8p-3q-4r (i)
19p-q+r,8p-3q-4r S
=19p-q+r-(8p-3q-4r)
=19p-q+r-8p+3q+4r
=19p-8p-q+3q+r+4r =11p+2q+ 5r
T 2% =3x? + X+ 5,4x + 5x* — 3x + 8 (ill)
2x* - 3x* +x +5,4x* +5x* -3x+8 S
=2x" - 3x* + x+ 5 - (4x® + 6x* - 3x + 8)
=2x*-3x* +x+5-4x* - 5x* +3x -8
=2x’ - 4x* -3x* -5x* +x+3x+5-8
=-2x" - 8x* +4x-3
3a-3b+4c-6d,4a-6b-c+7d (lv)
3da-3b+4c-6d,4da-6b-c+7d Y
=3a-3b+4c-6d-(4a-6b-c+7d)
=3a-3b+4c-6d-4a+6b+c-7d
=3a-4a—3_b+6b+4c+c—6d—7d
=-a+3b+5c-13d

x? - 3xy + Ty? -2, — 4x? —6xy-y? +5 i

My

?-b?=(a+b)(a- ~b) ()
a?-p? —(a+b)(a b) o
LHS = a’-b?
:.-L/b»d’-'
=(3)-(2=9-4=5
RHS = (a+b)(a-b)
c:.-.’_./b))(,&:g
=(3+2)(3-2)= (5)(1) = 5

JLHS = RHS
.. d"f'
L0 4

-2x* +5x—8 » 3x2-x+T7 ()
3 - x+7,~2x* +6x-8 - f
=3x* - X+ 7+ (-2x* + 5x - 8)
=3x*-x+7-2x*+5x-8
X —2x* -X+5x+7-8 =x? +4x-1
-3x* -7x +4 » 5x* -4x+2 (i)
5x? —4x+2,-3x* -7x + 4
=5x? - 4x+ 2+ (-3x* - Tx +4)
=5x? —4x+2-3x*-7x+4
=5x* —3x? —4x - TX+2+4
=2x* -11x+ 6
Sa + 2b - 5¢c »l 2a-3b+4c (i)
2a-3b + 4c,5a +2b-5¢ '
=2a-3b + 4c + (5a + 2b - 5¢)
=2a-3b+4c+5a+2b-5¢c
=2a+5a-3b+2b+4c-5¢
=Ta-b-¢
4a-3b 4 5b-2a a-20+¢ M
a-2b+c,5b-2a,-4a-3b :
=a-2b+c+5b-2a+(-4a-3b)
=a-2b+c+5b-2a-4a-3b

-
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c..Lff:'JJLfJ'?
-2(4)-5=8-5 =3

. 5x* (I
5x 'S
;..i./bmf‘z :
=5(4): =5x16 =80

x+y (i)
xty ) 4
- .:...’.../buu:"’
=4+2 =6
X+y-z (iv)
x+ty-z ' S
- el [',mg_f‘z

=4+2-5=6-5 =1

| 2xy-yz+y (v)
2xy-yz+y

Hc.é_fbugf‘-‘- ; <

=2(4)(2) - (2)(5) + 2= 16 - 10 + 2 = 18-10=8

: X +2? -2y (vl

X' +2* — 2y WS
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